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723 33-15+1=19 #

~ 23 40-19=21 * > E C-

5. Class A has 30 students. The statistics for their midterm exam (Hf17%) scores in
Chinese and Math are as follows:
25 students passed Chinese.
22 students passed Math.
18 students passed both Chinese and Math.
How many students failed (“~#%%) both subjects? (A)1 (B)2 (C)3 (D)4
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25+(22-18)=29 » 30-29=1 » iE A -
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150x (600+200)=450
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1. Among the positive integers from 60 to 360, the number of integers that leave a
remainder (8£%4) of 1 when divided by 6 is
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60~360 it F#Hc® > % i“,ﬁ%u 64 1emi 161 ~67~73~...... 355

61=6x10+1

355=6x59+1

59-10+1=50
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(156+144):20=15(2 7 )
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(1) 18 © 48~20 : 00 (19:00 ~ 19:15 ~ 19:30 ~ 19:45 ~ 20:00)

(2)20 : 01~21:05(20 - 25~ 20 : 50)
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[ 1x6-3=75
[ 1=(75+3)+6=13(p)
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18-6=12(¥%)
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[ 14>32> [ ]=3

34x9=306

306-32=274(3F)

TN RIFPEEI G [E—AFHIE — B - KIRPES—H LR 1% - T
F—HT S A2 kE—ESNEssirs—ES080n 3 FgES—H
53 HZtkE—ARNEYBHERT—BRRVEIN S - A/ ERAERRE
Ry A4 RIBTAE% 5 R H TR §

<f%47>

ErB s 5,8,11,14,... .. 44 ...

s B afics 3,8,13,18,...... e
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3+(14—1)x5=3+13x5=3+65=068
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I1x6=6 ~ 2x3=6 ~ 2x8=16 ~ 3x2=6 ~ 4x4=16 ~ 4x9=36 ~ 6x1=6 ~ 7x8=56 ~ 8x2=16 ~ 8X7=56 ~
Ix4=36 > 6x6=12 £ 5 12 f& -
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2. The picture on the right shows a gift box tied with a ribbon. If 16 cm of the ribbon
is used for the knot, what is the total length of the ribbon in centimeters?
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9x4=36 -
8x4=32

14x4=56

£ B =36+32+56+16=140 =>4~ . 8 cm

14 cm
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